Best model for HELP J104947.310+581525.863 at z = 0.841 x2=2.79
OPTx?=1.76 IRx?=6.11 threshold (OPT IR)=14.73 [um]

Stellar attenuated
fffff Stellar unattenuated
] . —— Dust emission

101 4 m —— AGN emission
3 . = Model spectrum
® Model fluxes
M oObserved fluxes

102?

10° 4

10_1?

Flux [m])y]

Ty, .

10~ 2 4 [,k S

=

9
w
1

o

(IR

x

207 5

= == (Obs-Mod)/Obs
S 1

S |

= |

v 07— A gt~k —————
v |

s |

2 1

= 1

o =1 . ——————  GIGAL
[]

[od

10° 10! 102 103 104 A
Observed wavelength [um]



